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1 [HESR KBS 6.8 1.0 4.9 14 589 616
2 [ TZUNLTIR 0.39 0.033 0.43
3 |77V EETF L 1.0 210 211
4 | TIVIVER I OF OKIEMER 4.7 0.017 4.7
5 |[TZULEE2— (PAFIVTI))=F )L 210 210
6 |T7ZULER2—bRaXl oF )L 0.045 0.0002 0.045
7 | TIUNER )V~ —T F )L 10 0.006 10
8 |TIUILFRATF L 0.016 210 0.0009 210
9 |[77Va=kJ)L 0.031 112 0.004 112
10 |[77ulb A 76 362 2,574 11 597 87| 171 3,878
11 |7V R A 0.082 0.082
12 |[7E&MJLTER 0.004 365/ 1,989 12,696 58 2,511 3,562 229 159 0.0006 354 21,923
13 | 7kh=kJsL 69 43 112
14 |7ER T ERY
15 |[7EF77
16 (2,2 —7VEAL)TFu=R L 0.0002 0.0001 0.0003
17 [ANb—T =
18 [ 7=V 0.059 0.009 0.067
19 [1—73/—9, 10—T7>r7%
20 |2—T3)xHK)—)L 139 46,367 14,849 61,356
21 |yayxy
22 |74 7m=)L 101 9.6 110
23 |XTG—=T3)Tx=/)—)L
24 |\ AR—T3I)Tx/)—)V
25 [ ART Vv 200 200
26 |3—T73I/—1—7m~
27 | A¥Ipm
28 |77 ILa—)u
29 1—T7ULAFL—2 3—ARFL S 2.0 2.0
HET LX NP ZLRUTE N NFD
30 M (T AXNIEDRBEN100514FT 63 7,539 52 120,558 14,291 142,503
DL K IZFDIREWMIZIED, )
31 | 7o F 'L ROFDILEY 6.4 0.090 26 20 53
32 |[7Tvhotky
33 |
3— AT FrAF N —3, 5, 5—KNIAF
34 LS IaNF =AYV T F—h 0.64 0.64
35 (A TFINTILTER
36 AT 3,151 3,151
37 [Ex7=/—/LA 0.92 0.92
2,2 — {7 TUER[(2, 6—T7
38 BE—4, 1 —Tz=L)FF ] H
J—)
39 |[7x=FIkA
40 [E7=FB—h 2,320 2,320
41 |7/ T=)L 898 898
42 12— AV T H v 0.45 0.45
43 (A0 B
44 AP LR IZEDOILEY 0.0002 0.050 0.050
45 | TR FF— )L
46 | Yaky =T 490 153
47 | T HIKRA 153 153
48 |EPN
49 [T AR 7,811 7,811
50 |EUR—K 1,416 1,416
51 |2—xF )L~FH Mg 17 0.16 17
52 | 7I=HT 840 840
53 |mF LB 50,575 21,886 57 61,751 694 43,510 675 466 6,701 57 16 50] 186,437
54 |ARAF TP —h 2,736 2,736
55 |=FL A3
56 |=FL L AXUR 545 15 560
57 |=FL o Z)a— L& /) =F)Lo—F)L 691 0.037 691
58 |=F LS Va—)LE ) AF )L o—F )L 38 0.034 38
59 [mFL U7 0.020 0.0006 0.020
60 |=FL U7 IUEERR 1.9 59 56 116
61 |~rx7 17,225 17,225
62 |~rats 144,876 144,876
63 |7 YT aIR 5,392 5,392
64 |Th7xr Ty IR 2,947 29 2,976
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65 |t r/oobRy» 0.045 0.045
66 |1, 2—TARFLT X
67 |2, 3—AFY—1—T7X)—)L
68 |ffk7 oL 0.029 0.029
2, 3—TARFU TN =7 =)L T—T
69 |
70 T ATF U Blal BHFREE kYo~ A7 9.7 9.7
F L B1b & BEFRE DRSS ) )
71 AL gk 0.32 0.32
79 Wb T 7 00 (RFEELDT10BH13ETD
LD NZEDIREMITIRS, )
73 [1—As%/)—)L 0.094 0.00007 0.094
4 [T —FIFNTx)—)L 0.081 0.081
75 | IRV LK OZEDOILAEY) 0.015 0.19 0.011 10 17 28
6 (AT ar— a5 RN 0.035 0.034 0.069
7 AN TSR
78 |2, 4—F L /—)L
79 12,6—F2L/—)L
80 |FI L 68,309 27,726 221 567, 130,409| 290,206 3,579 172,583 2,018 2,218] 17,200/ 229 92 11 259 715,626
81 |¥ /U 0.00004 0.00004
82 RN O F DKL EY 11 7.8 32 51
83 |[ZAV 315 4.0 916 0.62 1,236
84 |7 VAXY— L
85 |ZILHEILT LT ER 19 0.005 19
86 |71 — )L 0.004 46 0.0004 46
87 |7l =izt EY 0.97 0.011 2.0 0.38 39 7.4 50
88 | NfiZubEY) 0.94 0.94
89 |/unr=Jr
90 |[ThITv 548 548
91 [>T FTv 37 37
92 |FMLT7z BTR 1,290 1,290
93 | AT Zm—)L 562 562
94 |[HifkE =1 1.2 1.2
95 |ZATIF A 1,646 1,646
9% |7z /a)Y—)L 263 263
97 |1—/mu—2— (FaurF L)
98 |/uufiE
99 |Joufilro—T L
100 |[FLFF77/m—)L 5,670 5,670
101 |777ua—/L 10,990 10,990
102 [1—2aa—2, 4—y=fa~_ B
103 |[HCFC—142b 3,628 3,628
104 |HCFC—22 31,589 31,589
105 |HCFC—124
106 |HCFC—133
107 |CFC—13
108 (A7 vy 604 604
109 | A/Vh—ZruahlLxT
110 |/ —ZnmuhlLx
111 [2—mamn—4—=taT7r =l
112 [2—Z7no=fa B
113 [v~r 2.0 2.0
114 A H )77 7.2 7.2
115 [ 7= F¥IR 2,015 2,015
116 [ ~FLF TV IR 10 10
117 |[T7ary— 1,318 0.77 1,319
118 Sru7Z=)L 666 666
119 |7 72— 253 253
120 (A /vbh—ruauar=z/—)b
121 V39 —rnnrx/)—)L
122 |2—Zuurat’F g
123 [ #fk7 U
124 |73vay 227 297
125 |[Z7uoa~ P 80 4,116 4.9 21 4,222
126 |CFC—115
127 |[Z7ankL A 120 399 60 22 600
128 kAT IV
129 [4—/un—3—AF )Tz /)—)L
130 |MCP
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131 |3—/aa—2—AF )L —1—7aX
132 [ LR DLW 8.9 0.009 0.11 47 0.55 56
133 ;’;?V/”:‘“”%/i%”i“wf”7 710 0.005 710

T —h
134 |HEfgE =)L 109 235 0.46 345
135 i:?:ll\/‘/ﬁ\u:’“—ll/%/)l?:/bib—?ﬂ/7“fz

=
136 [ UF LT ILTER
137 | 73K 6.0 6.0
138 |7 Avhk 12 12
139 |[F7aAR 8.4 5.4 14
140 |7z 7 a/ R 300 1.7 302
141 |[2EXFH =L 174 174
142 |2, A= 737 =V —)L
143 |4, 4 —VT73I)V T 2= )L =—T )L

905> 57 AN il N7 ik
144 ?é?%j?/{tn%(ﬁaﬁ&O/?/%ﬁ% 8.5 144 159
145 |2— (P =F)NT3))xH)—)L
146 |[EUIRAAF L
147 |FAXU LT 306 306
148 | B 7= Apa—)L 1,836 1,836
149 | LIRSE 0.089 0.089
150 |1, 4— A %W 7.5 30 38
151 |1, 3— XI5
152 | BBy~ 9,053 9,053
153 |7 hF AR 185 185
154 | 7a~FL LTI
155 IN— (S Z7a~x )L F4) 7Z)LAIR 0.87 0.37 1.2
156 |¥7muur=y.
157 |1, 2—7un=xi 7.3 0.10 7.4
158 Mk =5
159 |2 2—1, 2—/upxcFlL
160 |3 3 —yrun—4, 4 -7V T =

JVAR
161 |CFC—12 5,528 5,528
162 |7’ ¥IR 1,150 1,150
163 |CFC—114
164 |HCFC—123 559 559
165 |2, 4—umhl>x
166 |1, 2—y 7 —4—=Fa~ P
167 |1, 4—7um—2—=fp~ ¥
168 | A7 a4 705 705
169 |Poay 396 396
170 |Thoary'—u
171 |Fut’=)> —)u 82 8.3 90
172 AV rnARy 201 201
173 [ ray
174 |V==2noy 8,516 8,516
175 |2, 4—D 1,287 1,287
176 |HCFC—141b 9,541 9,541
177 |HCFC—21
178 |1, 2— 77 ms\ 33 33
179 |D—D 11,333 11,333
180 |3, 3° — /o
181 |7 B 0.36 335 56,170 0.003 83 56,588
182 B9 ¥ 7y 269 269
183 BV —F 2,436 2,436
184 | /ma~_=)L 22,902 22,902
185 |HCFC—225 2,989 2,989
186 |HEALAT L 10,619 7.7 10,627
187 [F T v 16,842 16,842
188 [N, N— 2 7ma~Fi L7
189 N N—Io 7~ )L —2— ) F7

S — L AT 2T IR
190 |Pv oy ay oy 0.003 0.003
191 |4V 7TaFA45 2,344 2,344
192 |[=F 47 2 R A
193 |[=F )L TF A AR
194 |AHm
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195 |7 aFFHA 3,608 3,608
196 | AFZF A 9,216 9,216
197 =9V 3,162 3,162
198 [P AP —F 30 30
199 |CIZ/LAL A EL 260
200 |Y=kahLx
201 |2, 4—Y=hu7=x/)—)L
202 | =P
203 |7 z= LT3 0.25 0.25
204 |7 =)L =—F )L
205 |1, 3— VT VT T =
206 |JIVIRAIT 7L 50 50
207 33_6”/ Amvx =T FN—4=T 1.1 1 7.0 0.012 19
208 |2, 44—V — = ¥)—TF)NTx/)—)
209 |7 mEsuonAx 290 109 399
210 |2, 2—7aE—2—L7 )7 ®RTIR
211 |/~ —2402
212 | 77—} 9,890 9,890
213 IN, N—IAF LT ERTIR 32 112 0.094 144
214 |2, 4—AF LT =V
215 |2, 6—AF LT =V
216 IN, N—IAF L7 =V 0.005 0.005
217 |[FHIIA 150 150
218 |AF LTI 0.47 0.0009 0.47
219 |AF LI AL T 4R
220 | AF I FF IV S EED KRR
221 | _UT7THNVT 463 463
222 | T )FAINT
223 IN, N=UAFILRTVINT IV
994 g’F‘N SAFTIRTLVT Iy =N=A% 12 97,877 82 97,970
225 |F)ZmjLky 100 3.3 103
226 |1, 1=V AF)LERTV
227 |737a—h 3,670 3,670
998 3,3’ \—“/“%ﬁﬁ/l/t“7::::/v—4, 4’ =

=4V T F—h
229 | FA 77X —RAT L 27,216 27,216
930 N—(1, 3—9%%/1/7%/1/)—N’—7;

=)= INT—T =L T
231 |ANVk—R)T
232 IN, N—IAF )LA/LLT IR 9,387 9,387
233 |7z hm—k 14,718 14,718
234 |H3E 0.066 0.066
235 | R FFEDOKIEIER 0.0002 0.0002
236 | T AFFL =)L 90 90
237 | KERKX ZDILEY 0.60 2.1 21 23
238 |[KFT VT ==L
239 | HEAX{LEY 0.76 0.76
240 |AFL 1,284 0.10 182 472 8,331 356 508 3,437 14,570
941 2—ZNVIRANF YT hH U —1—AF LT R

TV NI L
242 | LU R OFOILEY 0.004 7.9/  0.0007 7.9
243 [ FAFFUHE 687 687
244 | F Ak 89,070 89,070
245 | F AR 0.0001 0.0005 0.0007
246 |FHT7x/—)L
247 |E°Z U0k A
248 | ZAT Y ) 26,320 0.50 26,320
249 |7 VR A 8,700 8,700
250 |4V XHF AL 1,398 1,398
251 |Jxz=haFF 7,733 95 7,828
252 |7 TF A 50 50
253 |7a 7 < J7RA
254 | A7 TR TRA 68 68
255 |FH 7 OES T =)L T —F )L 0.045 0.045
256 | T UM 0.85 0.85
257 | T H ) —)L 1,994]  0.002 1,994
258 [ NFHAFL T ETI 0.28 2,880 0.043 2,880
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259 |PANT 4T A 1.7 1.7
260 |Z7ouXa=,)L 27,967 27,967
261 | 7Y TIAK 2,636 2,636
262 [T /npTFL 2,177 1.6 37 2,216
263 |[CFC—112

2.3,5, 6—Thr7r7aa— /"5 —~_ %
264 |7
265 |7 RTERaAF VKT XV
266 |7 /LRJ 1,107 1,107
267 |FATINT 79 79
268 |F 7L 1.5 93,160 93,161
269 | VT 4k—)L
270 |TL7HLIR 0.0002 0.0002 0.0004
271 |TL 7 HIVERY AF )L
272 |$RKIEVENE (BEHE A RS, ) 2.5 12 3.6 13 76 107
273 | /W< —RT LT I)va—)L 0.057 127 0.000008 127
274 | =¥V —RTho T4 —v
275 |RT T IVHiEE R A 22 1,103]  0.025 44,137 4,554 49,816
276 |ThTmFL LA 1.0 2.3 3.3
277 |[NZ=F LT3 57 40 97
278 |[NJ=FL T hI3 1.4 11 12
279 |1, 1, 1—RF)Zpoox
280 |1, 1, 2—RN)rpooxx
281 |NJZom—FL > 2,502 0.73 53 2,555
282 |~ oz 0.84 1.4 2.2
283 |2, 4, 6—KN)/ou—1, 3, 5—NT7
284 |CFC—113
285 |rvoot sy 937,133 937,133
286 |F)Z7me v 44 44
287 |2, 4, 6—N)/upr=/—)L
288 |CFC—11 9,171 9,171
289 |1, 2, 3—RJroar o i
290 |NZumo X ¥

1, 3, 5—hJA(2, 3—TRF> 7t /L)
291 |—1, 3, 5— T —2, 4, 6(1H, 3H,

5H) — k4>
292 |NVZF LTI
293 |NUZ L7 5,061 5,061
294 12,4, 6—RN)7oE7x/—)L
295 13, 5, 5—FIAF )L—1—~FH /—/L
296 |1, 2, 4—RIAF LB 12,837 261 95 532 26,117 169 23 933 40,967
297 |1, 3, 5—RIAF LB 5,257 1,221 26 16,018 733 14,355 247 553 2,115 11 91 40,625
298 |NIL oAV T F—h 1.5 1.5
299 |fLATL 0.016 0.016
300 |brTy 100,869 72 0.31] 5,730 72,668 6,664 693] 301,478 2,998 3,248|  23,344] 171 80 109 12| 518,136
301 [PV o7y
302 |F7HL 1,046 1,581 0.21 683 548 8.4 3,866
303 |1, 5—FTT7XZL L IAN =AY T F—h
304 |43 0.030 0.030
305 gAY 2.8 2.3 4.6 34 120 164
306 | T ZUNERA~FH AT L 0.049 0.049
307 | M kR by va=0 A
308 |=w/ L 0.0007 1.3 1.3
309 | =T UALEY) 0.75 0.47 360 22 29 413
310 | =k = kR
311 [FNbh—=baT=Y—)L
312 A Nb—=btaTr=J
313 |=hZ Uk
314 |NNT—=ppZup~ B
315 [ AN bh—=bElL =z
316 |=ha B 0.28 0.28
317 |=haA& 0.053 0.053
318 | “HifkxH 0.38 0.015 0.40
319 | /v~ — /=)L )La—)
320 | /=) Tz /)—)L 0.005 0.043 0.047
321 (INFUUMEEWY 0.055 4.4 26 1.2 32
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S BT RS R BAEAL R T s | | or | o | PR SREDITR T ORI T | R el | oo | A | s | Tk

5 —[N, N—ER2—TEF/ILA4F =

FWVNTI)]—2"—(2—TaE—4, 66—
322 | Sl mT e =T Y) — 4 — AT RN 0.88 0.78 LT

=UF
323 [V ARUL 605 605
394 1, 3—bEA[ (2, 3—=ARFL7uat’ /L) 4%

VAL Vg
325 | A% 4 74,335 74,335
326 (/a7 FUL
327 |1, 2—EA(2—/un7==)L)ERT
328 [T A 0.27 0.20 0.47
329 |RUH— " 2—] 7,143 7,143

EAX(1—AF)V—1—Txz=/)LF)L) =~
330 | aon 1.5 0.002 1.5
331 | B AV HRA 3,444 3,444
332 |[ME K OZEOEELEY 0.00001 0.97/0.0000001 3.9 6.0 11
333 [ERFV 0.63 0.63

334 |[4A—beRuX L BHFEBAT IV

335 IN—(4—bRFaxy7=z=/1) 7T ®LT7IF

336 |ERm¥x /2 1.0 0.81 1.8

337 44—t =/ —1—7ua~Ft

338 |2—E =LY

339 IN—E=)1—2—FnrlJR

340 [EV ==V

341 BTV

342 BT 0.46 0.056 0.52

343 | HTa—)v

344 | T x= AV F R T

345 |7 ==)LERTFV

346 |2— T ==V 7 /—)L

347 IN— T xz=)L <L AR

348 |[7xz=L VT3V

349 |V = /—)V 18 0.018 23 41
350 |~LARY 1,207 52 1,259
351 |1, 3—THFV= 258 424 9,210 88 660 3,695 229 213 14,774

352 |ZHNEE T UL

353 |ZHNLEEY =T L

354 |7 HNVERY — ))<= )L —T F )L 4.9 954 346 1,304
355 |ZHILVEEE A (2— F )L ~F L) 67 8.0 75
356 |ZHIEE V<L —TF L=V 2.5 2.5
357 |7 Fa T 4,745 4,745
368 | T T T IVR 600 600
259 //1/’\7/1:—7“%/1/—2, 3—xTARF 7

JLx—7 )b
360 |~/ 6,830 6,830
361 [Tk 7T T F L 3,651 3,651
362 [T T Frm
363 | AXH TV 264 264
364 |7z B EFT A—k 15 15
365 |BHA

366 |Z— v —T7FL=bRa~LFFR

367 | ANE—8 WXV =T F )Tz /)—)L

368 [4— 44— ¥V—TFFNTx/)—)L 0.11 0.002 0.11
369 |7 Lk 6,000 6,000
370 |[BUHE 20 20
371 |77 7 TR 30 30

N— (Z—3%)—TFF))—2— S F7

372 S — IV 2T 2T IR -1 5.1
473 20— —x)—TF)—5—AF )T =

J—)L
374 | 5o bIKFE R OE DK IEER 1,002 1,237 1,555 3,795
375 |2— T T —)L
376 |7 Ha—)L 4,053 4,053
377 |75
378 | 7o R 60,970 60,970

379 |2—mur’—1—F—/b

380 v —1211

381 | uETIABRAK 345 64 409

382 |»»xm2r—1301
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383 [T mwi L 1,831 1,831
384 |[1—7mEr o] 2,500 2,500
385 |[2— T aETa
386 | RALATF L 9,875 9,875
387 Bt 7= T HARX
388 | L RALT 7
389 ?3“7& SIVNIATFNT e =y h=rmY 2.0 1,293 79 1,374
390 [ NFHAFL U UTIV
391 [~"FHPAFL L =TT F—h 0.17 0.17
392 | <L —~FH 22,861 1,025 3,071 57,928 973 0.14 103 85,961
393 | ¥ FTh—)L
394 | VU LK OZEDILEY 1.4 1.4
395 |[~ULASY T RREROD KRR 0.60 0.60
396 |[PFOS
397 |y =RralR
398 [ b~ 0.006 0.006
399 [ R RXTILTER 0.002 150 3,976 54 335 442 57 0.000009 5,013
400 |~ P 1,643 77 5,562 346 59,311 864 3,380 9,546] 229] 224 0.79 284 81,468
01 |10 2 A4—_BURNIIVR R, 2— 4

K
402 [ A7 F Bk 983 983
403 [T ) 0.002 0.0006 0.003
404 |[~_oErmarx ) —)L
405 [1FHFILEW 39 944 8.9 41 2,513 3,546
406 |PCB

R mFL o) =7 LF /Lo —T )b
407 | (T X NVFEDRFBEDN120615FTOL 529 24,724 11 413,128 6,024 444,416

Q&(ﬁ%mﬁéé\ IZFRD, )
408 i”_(ifi/iﬁ//)_jy%ﬂ/7i”l/ 18] 6,212 1.4 1,655 5.2 7,892

R (xR FLr)=RT v rm—7/b
409 R T 2T L s 6.9 27,921 90,336 7,184 125,448
410 ﬂ;‘zfﬁﬂ%”nﬁ//)_/*"wji*‘”I 444 22,834 21 1,766 51 25,114
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449 | T2 AT 4T 7
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